X=-135853. 350 X=-135653. 350
Y= -30361. 100 Y= -30361. 100
céO@
((Sb,
%b“\é’
Q(bl
)
QO%
S
%
‘1:\’\
A i
® S & B
—_— HEREE
e SHHEE
—_— A
—_—s KRR
— ftarh e
_—— - HEEE
BAEE
— Al
A A
@ 1SAH ©) MO (D)
) 28 A% ® MO (E)
® 3SAF, ® MO (F
O) ASAH ® MO (@)
55 AT, o) IMOeE (2)
= O
8 (] B5ASL e (@SEL)
.N = Bk ARA
NE O) OSASL ()
HEEAR
% o BRATL ®) i
> kAR
= [ B AL & CRBIER)
> = o~ BHAT
s O YSAS () R RED)
3 HB1SATL | FewIik
AE; w28Ad | B> B0
S "
N 20 HISAA Y T8
N 32.29Y —
$2.300 15/ @—U ©200 3.91% 21. 48n 135 (4] BHASAA mipis
A 30408 30. 324 =
L8 BT7SATL [ Bk
N ® MO (A) & 20t
=|s
2 i MO (B ®) Fg
2/01504.00 9.39 0——: 'é @ WO (C)
B Sls e hiiR >
%sg) N o= 2 @ ~ 6 ‘ RUR— IR ® PUh— kYT
SIS 28 ° e 0S~A48AFL KT
Fx 9
O
0 —
3210 . @ A$200 @ b 250
3 N ® Bé 300 ° Z
% _ 14 32.320 ® C¢350 O ESat ]
5 5| ® D$400 ® I8 A58
o) I
_o% :/, — . @ E¢ 450 [ Fpw it
By AN
] \.“% X @ F 6500 ® F8
I T
é/‘ 17 —d U% = @ ad 150 ® K> T
o‘ I U— =3 - 4
8‘)/\ ’;' ‘“‘ A Fl. B #®
N I AFES | mER
&
e | |i ® 51 24.768
e % B % ER &
_18 EHE EWE 2 BF 2O XEEE
S T T
*& @< VU ©200 11.62%0 19. 45m ®
o ey 23, 559 23, 785
b7 FREES IREER
e ﬁ%: BHE BWE B O KRS
L e S
¥ VU ©200 11.62%0 19. 45m
[m] 23 559 23 785
THEES FrEEs
F @< ®
7K W oE R
. BHIE WOUR BTSSR EEEE
| ——e ¢ O150 0.68 10.50
X=-135853. 350 X=-135853. 350 - ooy
Y= 30661 100 Y= 30361 100 = .
A

1/500

Om 20m 40m 60m 80m




